
www.evotech-performance.com

Ducati Multistrada V4
Tail Tidy Instructions



Installation Instructions

Kit Contents   PRN015778

2 x M4 x 12mm Black Button Bolts A

2 x Light Spacer B

2 x Indicator Shields C

2 x M5 x 16mm Black Button Bolts D

2 x M5 x 12mm Countersunk Screw E

2 x M6 x 16mm Caphead F

2 x M6 x 25mm Black Button Bolts G

2 x Large Spacer H

4 x Indicator Cups I

4 x M5 x 12mm Black Button Bolts J

4 x Small Spacer K

4 x M6 x 12mm Black Button Bolts L



Installation Instructions 1



Installation Instructions 2



Installation Instructions 3



Installation Instructions 4



Installation Instructions 5



Installation Instructions 6



Installation Instructions 7



Installation Instructions 8



Installation Instructions 9



Installation Instructions 10



Installation Instructions 11



Installation Instructions 12



Installation Instructions 13



Installation Instructions 14

B

A



Installation Instructions 15

I

Repeat
Both Sides



Installation Instructions 16

Ensure the insert is 
facing the indicator

on installationCaution

C

Repeat
Both Sides



Installation Instructions 17

Ensure the insert is 
facing the indicator

on installationCaution

Repeat
Both Sides



Installation Instructions 18

I

Repeat
Both Sides



Installation Instructions 19

Repeat
Both Sides



Installation Instructions 20

D

Repeat
Both Sides


